[image: ] Bhartiyam International School
Periodic Assessment-1(2022-23)
Subject: Maths (Set-A)
Class: II
Date: 12/07/2022								Max. Mark: 20
Name: ______________	 Roll No: ______                Duration: 1 hr
Instructions: 
· All the questions are compulsory.
· Attempt all the questions in neat and clean handwriting.

Q1. A number sequence starts at 42. It counts on in tens and stops at 72.                             (0.25x4=1)                   
       Write the numbers in the sequence.        


Q2. Write the missing numbers:                                                                                                     (0.25x8=2)                                                                                                      
	51
	
	53
	
	55
	56
	
	58
	
	60
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	92
	
	94
	95
	
	97
	
	99
	


Q3. Find the totals:  		                                                                                                    (0.5x2=1)								   
       (a) 67 + 2 = ________
       (b) 58 + 2 = ________
Q4. Find the difference: 								                          (0.5x2=1)
       (a) 55 – 4 = ___________
       (b) 64 – 2 = ___________

Q5. Find the multiples: 						                                                   (0.5x2=1)
      (a) 5 x 6 = ___________
      (b) 6 x 4 = ___________

Q6. Describe the given 3D shape:                                                                  		             (0.5x4=2)			     
[image: 3D Shapes (cube, circular cylinder, rectangular prism) by Texan School Belle]      (a) This shape is a _________________.
      (b) It has _____________ faces.
      (c) It has _____________ edges.
      (d) It has _____________ vertices.
 (
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) (
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) (
 28
) (
 46
)Q7. Order the given numbers from smallest to largest:  	                                                  (0.5x6=3)						     


Q8. Write number names for the following numbers:                                                                      (1x2=2)

     (a) 77 = _______________________________

     (b) 98 = _______________________________

[image: Cuboid Images, Stock Photos & Vectors | Shutterstock]Q9. What am I? Write the name under the picture:	                                                                   (1x2=2)						      								
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Q10. Write the table of 7:                                                                                                                  (0.5x10=5)                                                              					   
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